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aiven the following natlonal-incoms model:

Y o O 4 I+ G,
*=a+ b{¥T -~ T} (a0, O<h<l} [T: taxe=z]
Tad+ &V fd=f, 0=<t<1) [t: income tax rate]

whers ¥ is natlonal incems, © is cangumptinn, I, is investment
expenditure, G. is govarmment expenditure, and T is taxes, t is
income tax rata.

{a) Fird the eguilibrium national incnme’[¥¥}, equi;ihrium Lax
(T¥1, and egullibriam copaumption (C7), rospectlvaly. (97}
(b3 Find the government—cxpenditure multiplier, nonincome-tax
multiplier, and income-tax rats multiplier, respectively. el
¢z) In the ahove three multipliers, whirh ona is the bhiggest?

which one ia the amalicst. (297 )

pengider the following optimal allocaticn of time model: (by tha
130% Nobal Economic Prize wibner, Sary Becker)

Asume vour utility iz derived from the consumption procese rathar
rhan from tha good itsalf s0 that your wrility functlon is

Uik, , Ryl =dinga ) +Hn{a 3,

where A, are the set of activitics in which you consume tha sat of
goods 7 . The ith sctivity roqulres G/ ng unite of a good and by /Ny
houre Of time, Tespestively, per obe upit of activivy i. Aesume
that thers are only two activities and

nlfﬂ, n,=6, h =2, and h;=2.4

Assume you abe a working parent facing hoth time and financial
constraipts. Tha tetal time available o you is

T =%+ £,+ L = 24

where W reprasants work, t, iz the time you spend caring for your
children apd household, and ¢, i=s the time you have exclusivaly for
yourself. Your financisl conetraint raflects the assumption that
yaur total ibcome, wW, 1s spent oh elther good 1 or good 2 A given

oy
wi = P' G, ¥ Px_G:_

where B, =3, 1.&,_-2, and w=5, combining the time and financial
constralnte into a consclidated conetraint thet defines tha money-
walue of total time and rewriting the constraint in terms of
activities rather than goods, we have

WL = F, n,hl + Pl_n_._.aa+ H‘h,h'+ whlﬁl

{a) Caleulate how moch time you woauld spoend at work, caring for
your household, smd pursuing your own leizure activities given
yaur time constraint. CRE )
(=R ?g%;? for €, and Gp to determine how your total income ls spent.
{c) Suppose that a new, high-powered vacuum cleaner that dramati
iaduei EhaPamggnt ﬂﬁ tima you spant cleaning your hnusgﬂﬁichall?
nvented, rredict the impact of this tachnmological
relative amount of activity ﬂr, {3E Y d change on the

(EBEER F8)
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fdy Supposa that, in yvour llpited Eree time, you decide to get in
shape. After ponths of going te gym, you can now run 5 miles in
the seme amownt time that it wsod te take you to rum 3 miles (a
decrease in n,). Predict the impact of thism change on the relativa
amosunt of activity A,. {37}

{e) Suppose YOUr managar gave you & Gignificant raise. What is the
imgfﬂt on consumpkion of A, snd A, given that, fnitially h, <h,7
{3 ) : :

3. What are the difforspces in econemic thought betwean Claseical
School and Keynosian School? Please discuss how those dilfiferences

ipfluenge gowvernment economic policies? {105 3




